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9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafad gt & SR 39 & [T @98 SRE fased ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

frfefeg & @ @9 e
e @ G 78 B 7

1) HHAFEC & +EH

2) H=~Iar &1 |

3) Ui @ fEw

4) A 1 HEH

Freifafad & @ d9-01 g8 & &
fepaTees Terer & ' 7

1) HIg H b fSET g

2) TQFISY & GE-TeT TOeoT

3) AP ®H A ThE

4) WARRE-f g

Freifafad & | HF-a1 aRg e 56K
H U TE T ?

1) e e

2) fasweme® usH

3) TEAHIEH U

4) R wE g

Rt & o fae Rl & STgER,
fepQMRTareeT ® :

1) e FuredaE @ sTawn
2) e Afcepar @ oTaw
3) TN Afoehdr @i oTaeen
4) TW@ET Afqwar H afaeen

[ Level-2/1210]

Which of the following laws is not
related to heredity ?

1) Law of Similarity
2) Law of Variation
3) Law of Regression

4) Law of Progression

Which of the following is not a
performance test of intelligence ?

1) Koh's Block Design Test
2) Alexander's Pass Along Test
3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an
objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

According to Moral Development
theory of Piaget, adolescent period
is:

1) Stage of moral realism
2) Stage of morality constraint
3) Stage of heteronomous morality

4) Stage of autonomous morality

P.T.O.



[4/A]

5.

fr=fofeg & @ H9-91 fadwar fEe
ERUR SR UES IS E NI RGN CCAT IR TS|
P g Hitharcs e § e 787
g7

1) IeRAUIRAT (TAeE &l &)
2) THASE

3) Sigar

4) GO

i freaell & st § dm-

HI Tl T& © ?

1) ®is A & AR e Th-gHH
T& Bl

2) Yl Framd fagwarel & deEy
T foa B

3) s framd ot gHuar H
Ziaal P ST B &

[ Level-2/1210]

Which of the
characteristics is not related to the

following

concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

Which statement is not correct in
context of individual differences ?
1) Two persons are not exactly

same.

2) Individual differences are
deviation in regards to
characteristics.

3) Individual

distinguish individuals in their

differences

totality.

4) Individual differences are the
sole result of heredity.

When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method

2) Whole method

3) Massed method

4) Incidental method



8.

10.

11.

aftrm g ==t & fom @e-a
farerer g1 wmSE 78 Brm ?

1) A 4§ Sieq

2) o 9 o

3) TOH 9§ STE

4) G § I

Frfafed & | #iF-a1 9| & &

Rrsia 78 & ?

1) fopr| oTTgdiRwERaT TE waiEaRe @
SR Bl

2) s Yot Q@A e Bl

3) foprd ek 9 & STIERST &I
Bl

4) o Tm= ¥ fofe @ o)
5T 2

e midsie & ogaR St @
eI fehr & |rHIirh T |l
FH I FH AT Bl § 7

1) dFeEn 2) e

3) TN 4) =

Freffad & | d=-a e §

TS fabrE Bl T aH st

7§ ?

1) A & " aEeEye
ey

2) 41 |HITE a9

3) TEEH & @i

4) dR-ge

[ Level-2/1210]

8.

10.

11.

[5/A]

is not
learning

Which teaching maxim
beneficial for the
disabled children ?

1) Simple to complex
2) Abstract to concrete
3) Direct to indirect

4) Known to unknown

Which of the following is not a
principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is

predictable.

3) Development follows linear

path.

4) Development proceeds from
general to specific.

According to which psychologist,
the role of social and cultural factors
are important in the cognitive
development of children ?

2) Piaget

4) Hull

1) Vygotsky
3) Bruner

Which of the following is not a
common characteristic of social
development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping
3) Search for identity

4) Hero-worship

P.T.O.



[6/A]

12.

13.

14.

P ® A GEd s H

PF-G STRIT YRGSl @

WX 9§ qat 78 ' 7

(a) Hidam= T g

(b) 318 STIqarR® dae

(c) QISR e ST &=

(d) I oTEY AR AR
TR

7ET HT W T I

&c -

1) (a) W@ (b)

2) (b) W ()

3) (a) W (@)

4) (c) W@ (d)

YN U fiaq Sl AT gishanatt
% TN HIEAT Hedr © -

1) FATHOMHD HIEAT
2) THE HiEH

3) €IS HEHT
4) WEES HE

gmhe A & gl § #e-dl
freror-atfrm ToMifa faenfdet & fom
Taifys IR ® ?

1) &3 999

2) HT

3) TR

4) HERE Iaa

[ Level-2/1210]

12.

13.

14.

Which stages of Kohlberg's Moral
Development theory are not related
to level of conventional morality ?

(@) Individualism and exchange

(b) Good interpersonal relations

(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :

1) (@) & (b)
2) (b) & ()
3) (@) & (d)
4) (0 & (9

Learning through mental
like

reflection is called :

processes attention and

1) Imitative learning
2) Motor learning
3) Cognitive learning

4) Aiffective learning

Which teaching learning strategy is
most useful for students in context
of social learning ?

1) Field trip
2) Lecture
3) Experiment

4) Brain storming



15.

16.

11.

18.

Yodtd & offEed faeiq § w@rias
Ud FHEE IEUR F A AgEET W
PY-T1 PRE THD @9 q FHI
T& HXA 7

1) TETh & TERABT B IYYH

a1y

2) IS H TGN
3) FERG amdERT
4) UH B HHI

frfafed & & PM-a1 HRH RE
MR Uik @l ywifad 78 &
g7

1) TR & IRR® &9

2) fers @ AR e

3) farerh 1 fawgasg =

4) T &1 G BN

frfafeg & ¥ d9-T1 #BR®
e ®REH B SR el @
frepre @t geIfad 787 ear ¢

1) 9N

2) TR ® AN W B ARG

GRIG]

3) gHem

4) = it

diFes® & ofm Rreid & FgER
fre w3 9w § gefg B ?

1) TEAr & e

2) AEE H I

3) g¥E H +EH
4) g ufeichar &1 =M

[ Level-2/1210]

15.

16.

11.

18.

[7/A]

In Pavlov's Conditioning theory,
which factor does not positively
affect the conditioning between
natural and artificial stimuli ?

1) Appropriate timing of stimuli

presentation
2) Repetition of stimuli
3) Controlled environment

4) Lack of motive

Which of the following factors does
not affect the teaching learning
process ?

1) Physical appearance of teacher
2) Mental health of teacher

3) Content knowledge of teacher

4) Communication skills of teacher

Which of the following factor does

not influence the development of

child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

'Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning
theory ?

1) Law of readiness

2) Law of exercise

3) Law of effect

4) Law of multiple response

P.T.O.



[8/A]

19.

20.

21.

22.

Frefafad & @ SF-a1 M SIRERen
% il Ud 3T Siquesl & g9 §
& 78 8 7

AREROTeT Reia s
1) 99 Sgii i qefhad

2) AR TR AEQl
Rergfa
3) uUle fid gead

4) Iqafer ARERem EESIRES
R

T e | aed ®

1) 9o &9 9 dfgd s=a & [
faremr

2) T T=af & fou Qe

3) UMM W@ R T d WU
faremr

4) 99 g 3 0 R

frfafag & & $H-a1 g6 oiftem
1 U Rrsiq 7@ 2 ?

1) SARERem

2) AR Tgd

3) MRy SuRefa

4) Tiage

M % AR, % R ax ek
& P9 ITaqq WX @ A d@ o
ST T Y9 HT ey ?

1) U SAEH

2) HHE QAN AT

3) I\ M

4) fa¥Ed IrREy

[ Level-2/1210]

19.

20.

21.

22.

Which of the following pair is not
correct regarding motivational

theories and their proponents ?

Motivational Theories Proponent

1) Instinct theory Atkinson

2) Need Hierarchical Maslow

theory
3) Drive theory Woodworth
4) Achievement Mc'Clelland

Motivation theory

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for
disabled children

4) Education for all children

normal and

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach

3) Passive attendance

4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning



23.

24.

25.

wi % BrEe Reld § ge @
e 9 vegell W &« faam T ® 7

(a) g

(b) SIS

(c) HfhaTH®

(d) TETeTH

7&7 F< H =TI HIT :
1) (a), () W (c)

2) (b), (c) T (@)

3) (a), (b) T (d)

4) (a), (c) T (d)

gt Tfa & Sfrmeat & T Be-T
fereh EETAT SUH 7o © ¢

1) @R

2) SUARIAS e

3) AXE I

4) HeH o Aty

fpeTRIeeer # wipd |HISEh  FaeR
Y @ fT 78 e H A W -

() W FA
(b) T

(C) STE-Fisad
(d) Ecaea

1) (@) W (b)
2) (b) W@ (@)
3) (a), (b) W ()
4) (a),(c) T (d)

[ Level-2/1210]

23.

24.

25.

[9/A]

Which
intelligence are emphasized in the

three aspects of

triarchic theory of Sternberg ?
(a) Componential

(b) Experiential

(c) Operational

(d) Contextual

Choose the correct code :
Code :

1) (@), ®) & (c)

2) (b), (c) & (9)

3) (a), () & (d)

4) (@,() & (d

Which educational intervention is
not suitable for slow learners ?

1) Acceleration

2) Remedial teaching

3) Drill work

4) Cooperative teaching method

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills
(b) Empathy
(c) Ego-centrism
(d) Stereotyping
Codes :
1) @ & (b)
2) (b) & (d)
3) (@), () & (o)
4) (@, () & (d
P.T.O.



[10/A]

26.

21.

qaq U AUh qedih B Fe o
g

(a) TR TUET o=

(b) JUGH FWA & & FRRR
REIGSE

(c) A T G- A A @
i HTT

(d) Daw Afrw Iuwfer T

7ET HT W T I -
%< -

1) (b) T (d)

2) (b) W (c)

3) (a), (b) T (c)

4) (b), (c) W (d)

ag faEn S ‘e die’ @ geman adl
¢ AR e & g el @ o1
qEERT & W ik give
FA &, I8 FEAN ©

1) fafarse faren
2) yufasier farem

3) Ui farem
4) guEsh fwEm

[ Level-2/1210]

26.

21.

The true meaning of continuous

and comprehensive evaluation is:
(a) Taking frequent tests

(b) Taking continuous tests at

appropriate intervals

(c) To evaluate scholastic and co-

scholastic both aspects

(d) Measuring only educational

achievements
Choose the correct code :
Code :
1) () & (d)
2) (b) &(c)
3) (@), (b) &(c)
4) (1), (0) &(9)

The education which promotes
leaming by doing' and ensures the

students interaction with their

environment to learn, that is known as :
1) Special education

2) Progressive education

3) Integrated education

4) Inclusive education



28.

29.

30.

et foal & o M-
e Geme 9 SWrt 78
et ?

1) s qEd

2) el e

3) e fegw

4) I g HFRE

AR H g FO A e
PRbl & F&l R BN TIT BT :

(a) SRR

(b) e

(c) S

(d) 399

1) ()9 (d)

2) (a), (b) T (d)
3) (a)TW (c)

4) (a), (b), (c) T (d)

T% A Hfear oI S=d & faQ aol
AR g8t § SR FE § TR I@
Y B

1) feeaieRma

2) fewiforan

3) feanfthar

1) e

28.

29,

30.

[11/A]

Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the

following factors, which affects

learning :

(a) Motivation

(b) Aptitude

(c) Interest

(d) Attention

Code :

1) (©)&(d)

2) (a), () & (d)

3) @&(0)

4) (@), D), (©) & (d)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2/1210]

P.T.O.
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/A]

HRT— 11/ PART -1l

A (=) wd Si¥sh) / LANGUAGES (HINDI & ENGLISH)

f&=t (HINDI)
fraer : i gl & SR 39 & e @98 S faee gim

31

32.

33.

34.

. AW 9= & d@¥g § @E-@ g
oGIT B 7
1) 998 - foma
2) forg - 4wy
3) THYY - aHH

o o

4) Tt - e

T H HH-G7 GHEIE ST
T § e ghfa 787 8 7

1) TSRO - Y YT

2) [T - AR TYEW
3) @ifehd - HOT TYET

4) RAMEIR - FIEH TGET

=1 4 @ aF-a1 Y 9= o g™
q gAfera 787 © 7

1) Ifid - o |y

2) TAgs - foe €Y

3) WeRW - gha WX §f

4) TGS - o1 @) 9y

O, qE T I g9 B HA:
SR WM R

1) drY, &S, S

2) I, %S, a1

3) FUS, &, D

4) 33, FU3, Y

[ Level-2/1210]

35.

36.

31.

38.

forq faehed &1 AT Qdehlicih fohaT
e F& 8 7

1) TH GThY = T

2) T AW BT AT FE A R

3) €l EFT ST STEgR S

4) AAU® IO B BE|  H

e

A9 T GO T SH QI B
el e ®

1) Ted @ % § A S

2) STFYSTM Gai Bl B

3) AW & T R B Fen A
4) I R FH FA

Il % 0 T q= & GEg A
HI-91 JH ofGTT © 7

1) 8 a8 & FeT & - e
2) @ foelt 3 9 g1 & - o

3) B B F F T/ -

4) fasrg ot &t i 3281 - s

g e & weal § A YRS
T & ?

1) GeioH, el
2) Waw, Gead
3) AW, W
4) TEHI, AT



39.

40.

41.

42.

e e PREO-HERAT
SE-JH H FAL: 7o 7Y © 7

1) X, ¥

2) %I, Y

3) fofi, g

4) Fu, e

et 4 @ @9-ar 9= ‘aqw @
e 78§ ?
2) P

1) 99
3) R 4) FER

gﬁw%ﬁﬁaﬁaﬁﬁ—wzﬁww’w

?

1) FE T 9= 9 95 @ A
wEifed et &, 3§ fafver #eq

2) ‘9, &M, T I,
MR EICEAREE L IR T L ]

3) ‘G ¥ HE B Ted & -
TEaEs AT H ST D
4) Hedars GO H {6 9% @l

51 0 B 7 | o S

gw%ﬁﬁaﬁﬁﬁ—wzﬁaﬁw:@?

?

1) Fdaras el & YA Hed
(sl & otfafed) whaee #
2T R

2) 3, WER, & IH AarEa®
T B SEET 2

3) GoEE®  q ‘A,
gﬁaﬁzﬁw%zﬁﬁaqﬁaﬁ
|

4) fEr, witw Sw o Afw
ATadTeh Gl & IAEL 2

43.

44.

45.

[13/A]

o & HEg d dHe-a g O
7 & ?

1) ¥ T ST BT - e
ERIC

2) HW T HE 89 W D -
IR FERCIEC R

3) F 7 A Rl =g o -

YIS GaTy
4) I8 @ F GIR W © -

ferotares gaa
frr # § aF-a1 9= ‘oaES
dfesd g’ @ g 78 ® ?
1) ITg
2) HE
3) ag
4) AqHA
ST @ 3§ fRE 9w @

T=E-H oFIT § 7
1) Y - e, P
2) o - e, =
3) T - e, Wi

4 - ¥ gd

[ Level-2/1210]

P.T.O.
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[14/A]

it / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

46.

41.

48.

49.

Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?

2) Has the work been done ?

3) Had the work been done ?

4) Will the work be done ?

Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

Fill in the blank with the most
appropriate modal auxiliary :

Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2/1210]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
A) ®)

record held / by Bradman who

< @)

made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy



53.

54.

55.

Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

[15/A]

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoonas

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender

[ Level-2/1210]

P.T.O.



[16/A]
ART— 1l / PART = 1ll
| 319599 / GENERAL STUDIES

TS JAdT, Tliches STWRFTAT a9T /T M U9 ST / Quantitative Aptitude, Reasoning
Ability and G. K. & Awareness
e : Frfoied geit & S 39 & fou @@ Sfa e gim

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

A, 79 Rem § uiR=m™ H 8 =
R T I oA} 2 fPl gear § g
T YR 5 fHHl ToRm 8, O d®
oA fg & dedl § o9 fpw fRem
FRaq e ?

1) aRor-uided

2) JA-qiveH

3) IR-d

4) R

I Rl g W § PROJECT' &
'CEOPRT' @ 'PLANE' & 'ELNP'
ferEr ST B, @ 'ORGANISED' &1 341
%S WO H {8 SR foren S ?

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

qeH B Th G §, A S @ 9
79 T B T @& § 129 M W
g, It o7 Wl ¥ WER uRadd
fPar ofam B, @ A & S W% 4@
2291 WM & S B, O U § g
qSH B @ R
1) 27

3) 33

2) 31
4) 34

[ Level-2/1210]

61.

62.

63.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West

2) North-West

3) North-East

4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a

row ?
1) 21 2) 31
3) 33 4) 34



64.

65.

66.

61.

% IRAR §, A, X & [ 8, B, Y @l
AR, AN X T Z B T Y B, A
frfafag ®oi § @ dF-T1 A
ffdaa w9 & @& 78 & 7

1) B,A & Tell ©

2) B&H T G2

3) X,AHER

4) Y,Z P 98T 8

& T JEar § 7o 6 €

0,3, 9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

gfc A sfaer Rem § 8 fobl SR &
e TH AT 6 Ol I@ar & e
g IO-d Rem A ggat 10 R
To 8, O A IR g @
U We?
1) 0 fpet
2) 8 fmt
3) 10 feet
4) 12 feet

I 10 AR hEr FE @ (g}

ar
I & § 8 9 &g B, af S #e
% AV HE A 12 R F O =9 B
foq fohoe fTal @l STaYTehdT B 7

1) 6 2) 8
3) 10 4) 12

[ Level-2/1210]

64.

65.

66.

61.

[17/A]

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following
statement is definitely not true ?

1) Bisthe wife of A
2) B has a daughter
3) XisthesonofA
4) Y isthe sister of Z

Find the wrong number in the
given series :

0, 3,9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
point ?

1) Okm
2) 8km
3) 10km
4) 12km

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6
3) 10

2) 8
4) 12
P.T.O.



[18/A]

68.

69.

10.

11.

12.

W T O @ SR U B g
Rre oA 32 & 3 AR Brge &
aia: Bowr 6 T €, aft B @ ot
576 g9 QU 3, A 3EH SR B :

1) 4 a9 2) 5 I

3) 6 I 4) 8 i

I o FEfa sgye d R @
geqr 27 @, o FHhl Sel @l
de e
1) 6
3) 10

2) 9
4) 12

& g arge A T B #, dfem
WNIW\’:‘I@LIICIEF’:[QTZS:ZWS:4
g, 3 Mg argelt § @ A & 7 R
wd B @ 21 @ e @& TE fE
g S SR 8, 39 8 (e aig |
qTe T ST B STIAT H & 7

1) 1:2 2) 2:1

3 2:3 4 1:1

I 7 cosec © — 3 cot © = 7 & O
gOH TGl § &, @ 7 cot 6 - 3
cosec§ H TN © :

1) 3 2) 5

3) 3/7 4) B/7

I TF g9 H, T GG Yo ABC
sfatifeq fram smar B, B & ot &
gl T we @Rl 8 s drn
fBrygor =i

1) fquHetg Bygs

2) THigSTg By

[ Level-2/1210]

68.

69.

10.

11.

12.

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
576 cc, then its height is :

1) 4 cm 2) 5 cm

3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9

3) 10 4) 12

In two alloys A and B, the ratio of
copper and zinc is 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

1) 1:2 2) 2:1

3) 2:3 4) 1:1

If 7 cosec 6 — 3 cot 6 = 7 where 0 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

1) 3 2) 5

3) 3/1 4) 5/1

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle
4) Right angled triangle



13.

14,

15.

16.

11.

Uk HAER, TF a&f 15% @ W
ST B, W AT Iq 18 TN ARH
9 S g, af e 18% & S 3"
I&] 1 F9 gA (W H) B

1) 600 2) 540

3) 350 4) 380

Fr=ifataa 2ol & @ % © ¢
DBC, KIJ, QOP, _? , ZXY

1) VUW 2) USV

3) UTV 4) VTU

a TS GEell H W) 3 8, I
ST N H AN 369 B, A
el & A B

1) 25
3) 31

oo & T dMea H o faee,
AR B 12 A JT AEA H 5
T B, @ AR SEH AVGA 36 &,
T B

1) 2706
3) 2796

2) 27
4) 33

2) 2736
4) 2766

ak A ‘W @, B AN @', C
‘HeM FH’ T D PH B TR
FA E, AW20C 12B8A2D 6
R ¥

1) 16 2) 18

3) 32 4) 36

[ Level-2/1210]

13.

14.

15.

16.

11.

[19/A]

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600 2) 540

3) 350 4) 380

The missing term of the following
series is:

DBC, KIJ, QOP, _ ? ,ZXY
1) VUW

2) USV
3) UTV 4) VTU

The difference between two
positive numbers is 3. If the sum of
their squares is 369, then sum of

the numbers is :
1) 25
3) 3l

2) 27
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is:

1) 2706 2) 2736
3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A2 D 6 is
equalto:

1) 16 2) 18

3) 32 4) 36

P.T.O.



[20/A]

18.

19.

80.

8l1.

82.

Th A 12 fheiHie &l gl 3
i ger, 18 fpaHie &l gl 9
gfy guer qen 24 fheidieX @l
et oftr gver & @@ ear §, @
g T F B AEd =T B
1) 4 fpel/"0er
2) 4.2 fHl /AT
3) 4.4 fRHl /AT
4) 4.5 R4/

R T et § & W @& §
T
1)
3) R

1%

27

2) dom
4) =gq

gk 16-4=2,9-3=2,81-3=4
B, O 64-4 FH O B
1) 3 2) 2
3) 4 4) 6

1857 & fagle & M, i o
9 fhaq Ueas d fofewr foami W
STRHT fopar ?

1) B A

2) IHM Tl
3) HieX g

4) TgE W™
R B AR qeiedt & gy §

1) W& e |

2) RgHa gu |
3) R # S’ @ |
4) RRueE @ o=iRe & |

[ Level-2/1210]

18.

19.

80.

8l.

82.

A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr.

covering the whole distance is :

The average speed in

1) 4 km/hr

2) 4.2 km/hr
3) 4.4 km/hr
4) 4.5 km/hr

Find the odd word from the given

alternatives :
1) Violin 2) Harp
3) Guitar 4) Flute

If16-4=2,9-3=2,81-3=4,
then the value of 64 — 4 is :

1) 3 2) 2

3) 4 4) 6

During the revolt of 1857, who
among the following attacked
British establishments in Rohtak ?
1) Tafzal Husain

2) Imam Ali

3) Mohar Singh

4) Harsukh Rai

The Morni hills of Haryana belongs
to:

1) Aravalli range
2) Hindukush range
3) Outer range of Himalayas

4) Inner range of Himalayas



83. =R ¥ Fre d@W &E &R0
g7

1) g
2) fier
3) He=Te
4) ST

84. sfwmnm & fhaet dedi B ?

1) 95
2) 49
3) 143
4) 74

85. eaem & fh9

3) AR
4) IR

e

86. FodloTHoHlo & TFIHT, S PRl

T efaen & T = F

1) fo To Mo fhaag
2) 4 JIwR g S
3) i flo THo Tk
4) & HEEN U9

[ Level-2/1210]

83.

84.

85.

86.

[21/A]

In Haryana, where the Vulture
Conservation Centre is located ?

1) Jind

2) Pinjore

3) Mahendragarh
4) Ambala

How many Tehsils are there in
Haryana ?

1) 95
2) 49
3) 143
4) 74

In which district of Haryana, the
Khelo Archery
ranking competition was organised ?

India Women's

1) Sonipat
2) Panipat
3) Karnal

4) Yamunanagar

The  UPSC
subsequently became the Governor

Chairman, who

of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney
3) ShriB. N. Chakravarti

4) Shri Mahabir Prasad

P.T.O.



[22/A]

81.

88.

89.

90.

IqEad B B Bl SAEE IR
BECl d UiRUT e B BRAmm
THR BT I off W&l JoT ®

1) T BEA AT AN
2) A fovEa

3) AW Ul 7 fRrEd
4) BTN &9

gREmn § [eed 3R off% e
SIS HeI Fel e © 7

1) qEud
2) STl
3) =g
4) HHEA

gRAT % g Fe SAHEY DA © 7

1) Sl S e
2) gfo TER e

3) ot fav adw

4) ZFdl FHAEY HOSRI

g & Frefofed @@t & & &
RO A0 & AW d AhoF g 7

1) S W A
2) T MG ™
3) e ACH T
4) ET GOT A

81.

88.

89.

90.

The Scheme, which is being run by

the Haryana government to

replace paddy crop with more
tradition cropsis:

1) Meri Fasal Mera Byora
2) Meri Virasat

3) Mera Pani Meri Virasat
4) Hamara Dhan

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat

2) Ambala

3) Panchkula
4) Kurukshetra

Who is
Officer of Haryana ?

the Chief Information

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath

[ Level-2/1210]



AT -1V / PART - IV
T / MATHEMATICS
fraer : i gl & SR 39 & e @98 S faeke gim

Direction : Answer the following questions by selecting the most appropriate option.

[23/A]

91.

92.

93.

Ja3-12yT-——2 _ mam iy
V16 + 647

1) 1 2) 3

3) 5 4) 6

iy § Geged & AT 40 T o

ST PEBA 375 ¥, O I HEW
g

1) 16,24
3) 25,15

2) 20,20
4) 30,10

I U g & STER & &% 80 &
ql, I A AE TSI H A 72
o A T 40 T W R, @ 3@ W
& T §

1) 480 &9 o9
2) 360 g9 QI
3) 240 99 I
4) 80 &9 {H

91.

92.

93.

The value of 43—12r\/§—L
V16+6y7

is:

1) 1 2) 3

3) 5 4) 6

If the sum of two numbers is 40 and
their product is 375, then those
numbers are :
1) 16,24
3) 25,15

2) 20,20
4) 30,10

If the area of the base of a cuboid
is 80 square cm, the area of the
other two adjacent faces are
72 square cm and 40 square cm,
then the volume of that cuboid is :

1) 480cm?®
2) 360cm?®
3) 240cm?®
4) 80cm®

G & % W e / Space For Rough Work

[ Level-2/1210]

P.T.O.



[24/A]

94.

95.

96.

91.

R /3" =729, @9 n B AN B
1) 6 2) 8
3) 10 4) 12

M T W B T B TR
17.32 O B, O 99 &1 SMFeH © ¢

1) 10 &7 &9 2) 100 =9 G
3) 1000 & & 4) 10000 & |

frfefaa oifeel @t mfeae &

25, 34, 31, 23, 22, 26, 35, 29, 18, 32
1) 26 2) 27

3) 27.5 4) 28.5

TF T 84 HieX WM T 64 HieX
AleT Bl 3Td =X AN S TH T
g Rt 85 1632 & Hiex 31 39
T& & AR

1) 5 HieX 2) 6 HieX
3) 8 Hiex 4) 10 HieX

94.

95.

96.

917.

If V3" =729, then the value of nis:
1) 6 2) 8
3) 10 4 12

If the length of the diagonal of a
cube is 17.32 cm, then the volume
of the cube is::

1) 10cm® 2)
3) 1000cm® 4)

100 cm®
10000 cm?®

The median of the following data is :
25, 34, 31, 23, 22, 26, 35, 29, 18, 32
1) 26 2) 27

3) 21.5 4) 28.5

A garden is 84 meters long and
64 meters wide. There is a path
all around inside it whose area is
1632 square meters. The width of

that path is:
1) 5 meters 2) 6 meters

3) 8 meters 4) 10 meters

G & % W e / Space For Rough Work

[ Level-2/1210]



98. IR UF THAg IS # Hew 18 T

99.

100.

g, a1 IR AABA ©
1) 3643 auy’
2) 7243 {’
3) 96v3 &’
4) 10843 @’

A& n T QO A & A Th A
H’@T%,@TH@T&%

1) 9REg
2) SURHT

3) Ui
4) Td

I o TP, THHEOT x2 —2x—1=0

98.

99.

100.

[25/A]

If the height of an equilateral

triangle is 18 cm, then its area is :
1) 36V3 cm?
2) 72+/3 cm?
3) 9643 cm?
4) 1083 cm?

If n is a natural number other than
a perfect square, then the number
Jn is:

1) Rational

2) Irrational

3) Integer

4) Natural

If o and B are the roots of the

£ qaT g, T (0B + ap’) BT AN B : equation x?-2x-1=0, then the
value of (02B + af’) is :
1) -2 1) -2
2) 3 2) 3
3) 2 3) 2
4 1 4) 1
% &M@ & ¢ 57e / Space For Rough Work
[ Level-2/1210] P.T.0.
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[26/A]

101.

102.

103.

Uh dR @ B B gl UEh-Rier
H o T Bl IR ITH AEIH U
foraem & §, O Sue @R ¥ gRE R ¢

1) 2 T
2) 37
3) 6 A
4) 9 T

¢ sin 6 + cosec 6 = 2, A9 (sin''0 +
cosec'' ) & TN B :

1) 3

2) 1

3) 2

4 2"

¢ tan 20.tan 40 = 1, 9 tan 30 &I
e ¥

1) 0

2) 1

3) /3

4) o

101.

102.

103.

The radius of a wire has been
reduced to one-third. If its volume

remains the same, then the

increase in its length is :
1) 2times
2) 3times
3) 6 times
4) 9times

If sin © + cosec 0 = 2, then the value
of (sin'' @ + cosec'! 0) is :

1) 3

2) 1

3) 2

4 2"

If tan 20.tan 40 = 1, then the value
oftan 30 is :

1) 0
2) 1
3) 3

4) oo

G & % W e / Space For Rough Work

[ Level-2/1210]
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104.

105.

106.

frfeied sifest #1 aga® ¢ :
4,6,5,7,9,8,10,4,7,6,6,8,8,7,7
1) 6 2) T

3) 8 4 9

a’w-% & I &9 T

1) 0.35
2) 1.35
3) -1.35

4) -0.35

I T I MR B I B TR,

o 1
wﬁwﬁwﬁgﬂ%ﬂ‘rgﬁw
ST HIOT R

1) 30°
2) 45°
3) 60°
4) 90°

104.

105.

106.

[27/A]

The mode of the following data is :
4,6,5,7,9,8,10,4,17,6,6,8,8,1, 7
1) 6 2) 1T

3) 8 4) 9

The decimal representation of

——is:
45

1) 0.35
2) 1.35
3) -1.35

4) -0.35

If the length of the shadow of a

. . 1 . .
vertical tower is — times its

V3

height, then the angle of elevation
of the sunis:

1) 30°
2) 45°
3) 60°
4) 90°

G & % W e / Space For Rough Work

[ Level-2/1210]

P.T.O.
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[28/A]

108.

109.

1) 1

1-417
2

1+\/ﬁ
2

2)

3)

4) 4

(3 sin® 6 + 4 cos® 6) H FATH HAM
£
1Y)
2)
3)
4)

w DD = O

It § Gege @ AN 352 B au
ST HoHoYo 32 ¥, ol V&I GEHwl
® g9 IS § ¢

1) U=
2) B
3) T
4) =

1017.

108.

109.

Thevalueof\/4+\/4+\/4+ ...........
is:
) 1
2) 1-17
2
3) 1+\/ﬁ
2
4) 4

Minimum value of (3 sin?0 + 4 cos?6)
is:
1)
2)
3)
4)

w D~ O

If the sum of two numbers is 352
and their H.C.F. is 32, then the
possible pairs of such numbers are :

1) Five
2) Six

3) Four
4) Three

G & % W e / Space For Rough Work

[ Level-2/1210]
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110.

111.

112.

n g & NGd m g A m
et # N9d n B g Hegred

B TH G A9 W AT ©

1) m+n 2) mn

3) mn 8 2mn
m+n m+n

8 TEqell & W 22 B AR Uh g
BT & Y, O S e 16 31 e
T Hew R

1) 16

2) 22

3) 32

4) 64

frrfoiea deq & e ® -

1) 8
2) 9
3) 10
4 12

110.

111.

112.

[29/A]

The average of n numbers is m and
the average of m numbers is n.
Taking all the numbers together
the average is :

1) m+n 2) mn
3) mn 4 2mn
m+n m+n

The mean of 8 numbers is 22. If one
number is excluded, then their mean
is 16. The excluded numberis:

1) 16
2) 22
3) 32
4) 64

The mean of the following

distribution is :
x: 4 6 9 10 15
f: 85 10 10 7 8
1) 8
2) 9
3) 10
4) 12

G & % W e / Space For Rough Work

[ Level-2/1210]

P.T.O.

Download from www.MsEducationTv.com



[30/A]

113. T T guF Uf & AER H B

114.

T I S 5: 12 & YU | B
A g B AFAT 2512 79 G,
M e fods S ©

1) 22 I
2) 24 o
3) 26 @i
4) 28 o

n §E&RA a,, a,, ..., a, B AT a

2 i(aj—a—) H A B

i=1

1) 0

2) 1

4)

|

113.

114.

The radius of the base of a right
circular cone and its height are in
the ratio 5 : 12. If the volume of the
cone is 2512 cm®, then its oblique

height is :
1) 22cm
2) 24cm
3) 26 cm

4) 28 cm

The average of n numbers a,, a,,

..., @ 1s a. The value of i(aj -a)
is : -

1) O

2) 1

3) n

4 a

G & % W e / Space For Rough Work

[ Level-2/1210]
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[31/A]

115. 90 HX A TH T B PR 9 115. When seen from the top of a 90

T W, T R & R a1 ad & meter high rock, the angles of

SETHT HIOT HA: 30° AT 60° %, depression of the top and bottom of

@ I HNR A W T a tower are 30° and 60°, respectively,
then the height of that tower is :

1) 45 HiX 1) 45 meter

2) 60 Hiex 2) 60 meter

3) 75 HiX 3) 175 meter

4) 30 HiX 4) 30 meter

116. 35 THl A d@l Th IR ol 116. A cylindrical tank of diameter 35 cm

e | ‘I{T T g".’e; B AR <@ F @ is completely filled with water. If

11 @eX g+ foran SIq, qr < 11 liters of water is taken out from

1 &YX fhaeT ®H 81 ST ? the tank, then how much will the
level of the tank decrease ?

1) 9.428 {4t 1) 9.428 cm

2) 10.428 9HI 2) 10.428 cm

3) 11.428 9HI 3) 11.428 cm

4) 12.428 9 4) 12.428 cm

G & % W e / Space For Rough Work

[ Level-2/1210] P.T.O.



[32/A]

1117.

118.

119.

% STEAMT Sed & [, afe Aifeas
7 3 T EA 10 B, O 959 ©

1) 11
2) 4
3) 3
4) 1

Y1+3/343 w1 AN T :
1) 1
2) 2
3) 3
4 1

e 12+ 22+ 3%+ ... + P =
x(x+1)(2x +1)
6
......... +19%) % A ® :

1) 2500
2) 2485

a9 (12 + 3%+ 5%+

3) 2100
4) 1330

1117.

118.

119.

For an asymmetrical distribution,
if the median is 7 and the mean is
10, then the mode is:

1) 11
2) 4
3) 3
4) 1

The value of §/1+3/343 is:
1
2) 2
3) 38
4) 1

if12+2°+3% + ......... + £ =
x(x+1)(2x +1)

6
(12+3°+5%+ ... +19%is:

1) 2500
2) 2485
3) 2100
4) 1330

, then the value of

G & % W e / Space For Rough Work

[ Level-2/1210]
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120. 20 |4l &l TH GGl SHR <

121.

AR H S B AR IH Ay
<R AT HA: 8 TH 71 6 4l
g, @ @ TN A OWgE iR &
A R

1) 440 99 94
2) 880 ¥ Wl
3) 1760 g9 W
4) 240 99 99

A, B & T W R & 741 Th
Y et 3 et & @ 26 & H
T FXA oI I B B A AT b
T QU w7

1) 33 fa9

2) 35 &9

3) 37 i

4) 39 &

120.

121.

[33/A]

A hollow cylindrical tube of 20 cm
long is made of iron. If its outer
and inner diameters are 8 cm and
6 cm respectively, then the volume
of iron used in making the tube is :
1) 440 cm?®

2) 880cm®

3) 1760 cm®

4) 240cm?®

A is twice as good a workman as B
and together they complete a work
in 26 days. In how much time will
A alone complete the same work ?
1) 33 days
2) 35 days
3) 37 days
4) 39 days
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[34/A]

122. IR Th qEUS H &A% 212 T T 122. If the area of a plot is 212 square
%, @ %< ¥ 98 89%d € ¢ yards, then the area in square feet
is:
1) 636 1) 636
2) 1272 2) 1272
3) 1908 3) 1908
4) 2120 4) 2120
123. (l_lj(l_lj(l_lj ________ (l‘lj 123. The value of
2 3 4
i (1—%)(L—%)(L—lj ........ [Lnljis
H A B _ n
1
y L )
n n
2
2) 2 2) —
n n
_ 2(n-1
3 2(n-1) 3) (n-1)
n n
2
4) 2 4)
n(n+1) n(n+1)
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124.

125.

T 3 § 9 oI, 7 9%e o 4
T 2 gk 2 W ommm M S
g, A A T B N T B EN @l
TR ¥

36

190

57

190

63

190

81

190

1)
2)
3)

4)

e fredl o e @ B T S
N AMGA 20 A T AT IqH KA
gl 86 880 T AW B, O SEH
I B

1) 1760 99 9
2) 8800 ¥ W
3) 2002 g9 o
4) 4804 ¥ W

124.

125.

[35/A]

There are 9 red, 7 white and 4 black
balls in a bag. If 2 balls are drawn
randomly, then the probability that
both balls are of the same colour is:
36
190
57
190
63
190
81
190

1)
2)
3)

4)

If the sum of the radius and height
of a solid cylinder is 20 cm and its
total surface area is 880 square

cm, then its volume is :
1) 1760 cm®
2) 8800 cm?®
3) 2002 cm®

4) 4804 cm®

G & % W e / Space For Rough Work

[ Level-2/1210]

P.T.O.

Download from www.MsEducationTv.com



[36/A]

126.

121.

IR T T B OAARE A 6 aY

T FHIAHHE Y 5 a¥ s, d 39
= H Sfak-ae (1Q) ©

1) 80
2) 100
3) 120

4) 140

TH T 20% d N W Sl B AR
a8 T 400 FHF H S o, ar 20%
ﬁ%’lﬁf@ﬁl@ﬂiﬁq—ﬁ%:

1) <1000
2) <2000
3) 3000

4) %4000

126.

121.

If a child has a mental age of 6
years and a chronological age of 5
years, then the Intelligent Quotient

Q) of the child is :
1) 80

2) 100

3) 120

4) 140

A watch was sold at a profit of 20%.
If it had been sold for T 400 less,
there would have been a loss of

20%. The cost price of the watch is :
1) %1000
2) 2000
3) <3000

4) %4000
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[37/A]

128. ¥ T&MW TH 0 G T HAM 128. Two numbers are respectively 30%
30% T 44% HH | %Efl qe& and 44% less than a third number.
Tea ge ¥ fham wfaed @9 ® 7 By what percent is the second

number less than the first number ?

1) 10% 1) 10%
2) 20% 2) 20%
3) 30% 3) 30%
4) 40% 4) 40%

129. SIHIEA HI 98 AET ST Jredraenar B 129. The branch of philosophy that
5@&[ W &N Siad Bl %, g focuses on the nature of reality is :
1) <& 1) Connectionism
2) FEHEE 2) Epistemology
3) qwHMEm 3) Metaphysics
4) fRrEnsTE 4) Pedagogy

G & % W e / Space For Rough Work
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[38/A]

130. TF Bge & O g 10 e,

131.

12 HiexX q&r 14 Hiex 31 39 By &
FGT B ATHA ©

1y 3311 aif dhex
21

2) 2221 o dex
21
11

3) 11-- F HieX
21

4) o1l o drex
21

A 24 &GN F B TeT 18 gt
% fopg 0 & WX 8, T9 g
S

1) 2519
3

2) 3119
3

3) 162%
3

4 331y
3

130.

131.

The three sides of a triangle are
10 meter, 12 meter and 14 meter. The

area of the incircle of that triangle is :

1) 33% square meter

2) 22% square meter

3) 11% square meter

4) 9% square meter

If the cost price of 24 articles is equal
to the selling price of 18 articles,

then the percentage profit is :
1) 25 1 %
3

2) 3119
3

3) 162%
3

4) 33l%
3
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132. & WHR & gd THGE & &% 9

133.

TRA 2| A ITH 0% g9 d B
5 & 3, T ITH WIS ST &
TR ©

1) 5
2) 543
3) 1043
53

4) 2

S S & AR, S & BE &
(AR T =10

1) A9 & [

2) W™ % Saw & e

3) SEHslier & T

4) TN Sied & faQ

132.

133.

[39/A]

Two equal circles pass through the
center of each other. If the radius of
each circle is 5 cm, then the length

of their common chord is :
1) 5
2) 53
3) 1043
5J3

R

According to John Dewey, schools

must prepare students for :
1) Research

2) Future life

3) Entrepreneurship

4) Present Life
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[40/A]

134. gfe (X+l]=2’ g (\/;+ij Gl 134. If [x+lj:2, then the value of
x Jx x
A (\/;+%J is:
1) 2 ) 2
2) 2 2) 2
3 1 3) 1
4) 1442 4) 1442
135. I¢ TH HHEFN ot & n & H 135. If the sum of n terms of an arithmetic
TR (8n” + Bn) %, a9 158 & : progression is (3n” + 5n), then 158 is :
1) 26d1 T 1) 26™term
2) 27d1 0§ 2) 27™term
3) 281 T 3) 28™term
4) 2991 T 4) 29™ term
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[41/A]

136. ok (x4+i4j=119 @M x>1,d | 136 & (x4+i4j=119 and x > 1, then
X X
(XS—LS] & A ' the value of [xs —%Jis:
X X
1) 18 2) 36 1) 18 2) 36
3) 54 4) 12 3) 54 4) 12
137. IR S, BYst ABC &1 == & o 131. If S is the incentre of triangle ABC
/A =30°, 99 «BSC & 9 © : and /A = 30° then the value of
/BSC is:
1) 90° 1) 90°
2) 100° 2) 100°
3) 105° 3) 105°
4) 110° 4) 110°
138. iy a:\/§+1 o b:*/g_l, GEl 138. 1t a:@ and b:b, then
J5-1 VB +1 J5-1 VB +1
2 2 2 2
% A L thevalueof%is:
a“—-ab+b a“—-ab+b
1 2 1 2
VA 2) 2, n Y 2) 2,
3) 1 A 3) 1 4 Y
G & % W e / Space For Rough Work
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[42/A]

139.

140.

3,5,6,7 5% &I § § HF-4I TE
FHIT & S ?

1) 5
2) 1T
3) 9
4) 11

el TR @ SEEm 3 aY @
40960 ot IR I TR H IGHN
TG 49130 B, o yided amd®

o b

1 2ly
4

2) 5lo
4

3) 6%
4

4 1i%
4

139.

140.

Which number is to be subtracted
from each of the numbers 3, 5, 6, 7
so that the four numbers obtained

become proportional ?
1) 5

2) T

3) 9

4) 11

The population of a city 3 years ago
was 40960. If the present population
of that city is 49130, then the

percentage annual increase is :

1 2ly
4

2) 5lo
4

3) 6%
4

4 11
4

G & % W e / Space For Rough Work

[ Level-2/1210]

Download from www.MsEducationTv.com



141.

142.

143.

Fie 12 AEHl el @ @ 20 R H
FA T, d9 60 OMEHI I FH W
fpee e & w8 ?

1) 4 2) 3

3) 2 4) 6

sfaelier e diem o SR AR §

1) Yght

2) forEex
3) FE T
4) AFT TABL

TF U@ 1 AfRd g % 1500 B e
bl geI T 20% 1 g f&ar S
21 o9, Rl Ue% & 39 U @ g
99 ¥ 1116 @4 & fom far
AR 2T |

1) 5%

2) 6%

3) 1%

4) 8%

141.

142.

143.

[43/A]

If 12 men do a piece of work in 20
days, then in how many days will 60

men do the same work ?
1) 4 2) 3
3) 2 4) 6

Progressive education emphasizes
learning by :

1) Reading

2) Writing

3) Doing

4) Enjoying

The marked price of a fan is ¥ 1500
and a discount of 20% is given on the
marked price. Now, the additional
discount given to a customer to keep
the net price of that fan at3 1116 is:
1) 5%
2) 6%
3) 1%
4) 8%
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[44/A]

144, IR SIUST Foen § @ 2 SR @ 144. If2letters are chosen from the English
AR %, @ I ST b WX BN alphabet, then the probability of
P e ® both the letters being vowels is :
| |
1) Ag') D AS
2 2
2) % 2) Tes
3 3
3) ¥%s 3 Tes
4 4
9 Vs Y Tes
145, ay L, 2 1009 =1, 145, 11— 2 1009 i enthe
x+1 y+2 2z+1009 x+1 y+2 2z+1009
x ry .z FAE B : valueof >+ 4+ Z s
x+1 y+2 2z+1009 x+1 y+2 z+1009
1 1 1 1
2) 2 2) 2
3) 3 3) 3
4) 6 4) 6
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146. IR S, BT ABC & UR&H= &
/A =50°, 99 ~BCS & A ? :

1) 30°
2) 40°
3) 50°
4) 60°

147. I¢ Bx-y): (x +By) =5 : 17, a9
@+y):(x-y) FAEE :

1) 1:2
2) 2:1
3) 3:1
4 1:3

148. a9y fvem &1 @Y ©
1) Yiqeemel 8E 9
2) ReFi & fou e 9
3) AR A
4) FAAR BAT |

146.

141.

148.

[45/A]

If S is the circumcentre of triangle
ABC and ZA = 50°, then the value
of /ZBCSis:

1) 30°
2) 40°
3) 50°
4) 60°

If(Bx—-y): (x+5y) =5:1, then the
valueof (x+p): (x—y)is:

1) 1:2
2) 2:1
3) 3:1
4 1:3

Special Education is related to :
1) Talented students

2) Education for disabled

3) Teachers

4) Weak students
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[46/A]

149. 3Tig (3@&):5, ad (XSJF%j T 149. If (x+§j=5, then the value of
A R (xs +i3j is:
x
1) 125 1) 125
2) 110 2) 110
3) 25 3) 25
4) 5 4) 5

150. TN o % 5 § fqwieig 8W am 150. The sum of all three digit numbers

e Hemel & A § - divisible by 5 is :
1) 98560 1) 98560
2) 98540 2) 98540
3) 98520 3) 98520
4) 98550 4) 98550
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6.

usHr B N, I G=h ¥ faiRa @t & & 9 qrEe ™A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y BN A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT E A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

T B FISH-E[W 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk X AT IR S Sk H I q&a of 9d o1 (Fhe wgs) & T (s 21/
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TA% U & fow Ru o oar feed § & ofd faee 3 T OMR ST W% W 399 % 99 & & [0 TR FM a6 @Re W W
Th d I JifFT B B I8 IY To Tef o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 oW T B AT 7 9 Ud 39 W HE I M T ) ot ot i St W # feEiRa e
% oifaftdd o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

Y- T I T B ANEE T H, Fie e 9 oRRefd § [eT-gRae 0 St T & B § @ R &
@3%_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W = ° U T wHiw gt T % ¥ =R’ I ¥ fT€ / The candidates should write the correct Number as

given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle Ad/H F HAY W R UEEM U & SiiRed R SR @ ureg-ar, a1 ST FEST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHAT AT TR ST TR & G B S A7 SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S TX UA% TRt oo Wae S A o] 9 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

F% ordfes @1 wdwe @ AW aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR fhU A ol wlen & e 818 ARk fed vl A
A R WK A W EWRR Te Y q a8 A O % I IO T AE Aern & AR Fe ST | H A qE S
OMR T T% 7 FHiRG @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey e & &6 919 &
& Tl WY R @ g A & & @nd oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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